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P g SR
ESR S TR = 1 =i Q1 IV NI )
i A FN044203 H 08 H TR 77 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]

H 32 £ IH 15. 00| FA % 432 6, 480 1, 404 1, 066 756
X H D e E 12. 00 | #H%f 727 8, 724 1, 458 969 432
F 9 NAEL w5 4. 00| FH%f 50 200 2,160| 1,944| 1,728
H % o 3. 00| FHxf 207 621| 1,458 1,303| 1,080
i A ] 1L 1. 00| FHxf 160 160 1,080 763 432
ENIE s.o0 fsb | 1] 51 | 3,780
HOX {r 4. 00| AR} 5 200 1,620| 1,296| 1,080
AN B 2. 00| FH*} 237 474 1,188 1,026 540
EEL w5 4. 00| fHxf 159 636| 1,242 978 864
I ool bkt s7| 208 648 5714 486
[ I\ w5 5. 00| FH%f 654 3,270 1,890 1,514 756
~7 b~ | F ) 3. 00 [ FHx} 63 189 1,728 1,706| 1,620
IR Ak L 2. 00| FHxf 5 10| 3,564| 3,521| 3,456
H 3 w5 5. 00 [ FHx} 45 225\ 2,376 2,218] 1,728
T En 2 JEE I 10. 00| AHxf 319 3,190 3,456 2,566 108
A= 4 AL E 10. 00| AHxf 92 920 3,240| 2,203 1,566
B OF g, 10. 00| AHxf 85 850 2,916] 2,160| 1,836

£ A AbifEE 20. 00 | FH%t 40 800 3, 888
& @ | 1000 fE| o3| 1,930| 3,672 3,002| 1,836
P L 10. 00 | #H%f 421 4,210 3,240 2,509| 1,458
==l H A & ] 4. 00| FHxf 568 2,272 1,836 1,489| 1,080
Tuyal— w5 6. 00 | FH%f 191 1,146 2,484 1,879 1,382
ENIE 6.00 fxt| 34| 204| 2,160| 1,906 1,728
AEHEE w5 0. 10| #H%f | 3,550 355 151 108 65
ZDEH E % 0. 20| FA%F 900 180 70 54 29
LU 5 % 0. 20| FA%F 150 30 87 59 17
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F1044£03 H 08 H EFER S 22 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

5 U H & 10. 00| FA % 465 4,650 4,320 3,138] 2,160

Yata—n H & 10. 00 | #H%f 2 20 4,212

Avara 7 4 U E | 13.00| fH%f 5 65 2, 268

T AT E— = B 0. 27| FH%f 124 34 324 306 270

HEBR D & ] 0. 27 | ¥} 3, 238 875 486 421 346

S X EF I 0. 25| FHx} 8, 923 2,236 454 333 216

RIHD Y S ) 0. 25| FH*F 3,513 878 367 296 227




